ANRITING AND BaLancING CHEMICAL EQUATIONSD

Write the chemical equations and balance each of the following word equations.

() Aluminum metal reacts with iron (Il) oxide powder to produce aluminum oxide solid

and iron metal.

(i) Aluminum sulfate solution and calcium hydroxide solution produce a precipitate of

aluminum hydroxide and solid calcium sulfate.

(i) Ammonia and oxygen gas yield nitrogen (llI) oxide gas plus water vapor.

(v) Calcium hydroxide solution and carbon dioxide gas yield solid calcium carbonate and

liquid water.

(v} Aqueous iron (lll) chloride and sodium carbonate solution yield aqueous sodium

chloride and a precipitate of iron (lll) carbonate.

(vi) Solid iron (Ill) oxide and carbon monoxide gas yield iron metal and carbon dioxide

gas.

(vii) Magnesium carbonate solution plus aqueous hydrochloric acid yield magnesium

chloride solution plus liquid water and carbon dioxide gas.

(viii) Silicon dioxide solid plus aqueous hydrofluoric acid yield solid silicon tetrafluoride

plus.



ANRITING AND BaLancING CHEMICAL EQUATIONSEI

Answers

(i) Aluminum metal reacts with iron (Il) oxide powder to produce aluminum oxide solid
and iron metal.

2 Al(s) + 3FeO (s) > ALO, (s) + 3 Fe (s)

(i) Aluminum sulfate solution and calcium hydroxide solution produce a precipitate of

aluminum hydroxide and solid calcium sulfate.

AL(SO,),(aq.) + 3 Ca(OH),(ag.) => 2 AI(OH),(s) + 3 CaSO, (s)

(i) Ammonia and oxygen gas yield nitrogen (llI) oxide gas plus water vapor.

4NH, (g) + 50,(g) > 4NO(g) + 6H,0(g)

(v) Calcium hydroxide solution and carbon dioxide gas yield solid calcium carbonate and
liquid water.

Ca(OH), (aq.) + CO,(g) = CasO, (s) + H,0 ()

(v) Aqueous iron (lll) chloride and sodium carbonate solution yield aqueous sodium

chloride and a precipitate of iron (lll) carbonate.

2 FeCl, (ag.) + 3 NO,CO, (ag.) = 6 NaCl (aq.) + Fe,Fe(CO,), (s)

(vi) Solid iron (Ill) oxide and carbon monoxide gas yield iron metal and carbon dioxide

gas.

Fe,0, (s) + 3CO(g) > 2Fe (s) + 3 CO, (g)

(vii) Magnesium carbonate solution plus aqueous hydrochloric acid yield magnesium

chloride solution plus liquid water and carbon dioxide gas.

MgCO, (aq.) + 2 HCl (aq.) > MgCl, (aq.) + H,O (I) + CO, (g)

(viii) Silicon dioxide solid plus aqueous hydrofluoric acid yield solid silicon tetrafluoride
plus.
SiO, (s) + 4 HF (ag.) = SiF, (s) + 2H,0 (1)
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